N = 0l & At & Ml A

2015 = =0 & LS &

SN R D
M ZHot) FHE MHAE 29
Sl B SYS MIZ2Y (29l & 2)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
TH S 1t 2,730,330 3,485,138 AT754,808
2 35,000
= 2,695,330
Sdotd SHE WAE 24 674,110 603,242 70,868
8ot EHE MB2IZ 555,210 483,442 71,768
oHEXOI XIZME2Y 209,659 189,324 20,335
201 L2l 72,720 78,477 N5, 757
01 At 22/l 47,790 46,521 1,269
Oflger=&Hl] 47,790
OXZAN MHULREHIE HME & HESEE
70,000& * 1501 * 63l 6,300
OXYN SEOh=T 22t
5,000& = 1,800% 9,000
OXYA SEHEME ZEHI EHUFY 9,990
0 ENH(FIE, 4AR2)EAE
1,350,000 = 43| 5,400
oO0CR =gl EUW 270,000& = 204 « 43l 2,160
oF - -SEM &2 Z2iy EH(2UAY)
108,000& = 2CH * 53] 1,080
o SH0OCREEH 56,250 = 120 = 23] 1,350
OXNZM XM S EX 15,250
o NeAl FIIZ20RLXAM(8ER)
65,0003 = 35%rA + 33 6,825
o XA 2UOCRUXIAM(EHE)
65,0003 = 358tA + 38 6,825
o NEgA SR WARK P
50,0003 » 32¢FA 1,600
OXNLMNSESHMIZTINE TEHI A2
WA 522,500& * 65 = 23l 6,270
OTHAAARE FHLY
70,000& = 721 = 23| 980
02 3323l 24,930 31,956 ANT,026
Olzas22 < HMAl 17,930
OXNYA DXNAM L& fHZ 17,930
o &7l 1,930& = 1,000 1,930
o gt 3203 =+ 50,0004 16,000
O[AI&E &Hl = Xbl] 7,000
Oz Tyl ¥ ESEI SN
7,000,000& * 14! 7,000
202 O4dl 18,500 10,870 7,630
01 = LH 4 bl 18,500 10,870 7,630
ONSRZAL g2F2 5,760
O 2 LY 20,0003 = 32! = 40 2,400
o2 70,0003 = 32! » 16 3,360

_1_




25 M
M. BAHGID EHE MAAE 29
Sel: ZHGD =Y NIFSY (29l & 2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ONSHNEAY & BERLAME BEaS
Hl 70,000 = 201 % 5L 700
OX AN A& EAHAMH & SH dH222(
E=H23l) 70,000& = 1621 » 2 * 23| 4,480
OXYAHIUAN SRFE 0]
20,000 * 62! * 63 7,560
203 R F & 14,000 14,000 0
03 AIZH =X H 2 F X H| 14,000 14,000 0
ONFHASAE AMLLSEY)
14,000,000 = {14! 14,000
204 &R A H| 50,400 50,400 0
03 EHYLRAY 50,400 50,400 0
OEEY2AY|] 50,400
OHRLLTLY N LAY
100,000 = 42901  12& 50,400
303 ZAZ2 3,000 3,000 0
01 ZAZ 3,000 3,000 0
OZ2AH L HAxURLZAZS(2HZHSE)
3,000,000& = 14l 3,000
306 542 7,091 5,074 2,017
o1 s 2 7,091 5,074 2,017
Ost=2XNLNARE &2HZ  7,091,000& ~ 14 7,091
403 XX SHHMS X201 A 43,948 24,503 19,445
02 BII2S 0 CHSHCHEH AFS I 43,948 24,503 19,445
OEZ=XNYAN BEANAE A4
20,428,000& * 14! 20,428
OSe NN BEANAE SIE4
11,820,000& = 14 11,820
OINESANAE SXNE 700,000 * 14 700
OXNEMNEEAALY ASHESKN =2 L IS H
&h) 11,000,000 = {14l 11,000
NEA 22 M2 180,584 148,278 32,306
201 LBt 9H]| 81,584 72,278 9,306
01 AP 22| H| 30, 155 30, 155 0
OfdetE==H] 30, 155
OXBEAH S=DKRA P (L)
65,000 = 302rA 1,950
OXEAHl SE=1DXA FAU(2E)
65,000 = 358FA 2,275
OKXNZEAH MY =2 Marsi F¢
60,000 = 9Bt A 540
OMEY U5 SI40 M
70,000 = 130 * 43| 3,640




SM: HPD
M ZHot) FHE MHAE 29
el ZHGD SYS NESY EEREED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXNLAM XMEX B0 ==
100,000& * 10024 10,000
ORESH YESISS £42
1,000& = 1,80024 1,800
OXNZA =EdENE =2
50,000,000& * 2% 1,000
OXZA MEX HsHEEXS =2
2,000& = 2,475A 4,950
OJIAHAE =25 80& * 50,000 4,000
02 =24l 51,429 42,123 9,306
Ol3322 < HMAl 35,829
OXNLNESEH eEs2HF (L)
20& * 27,000A 8,640
OXNLNEEH LE52R2HES(SD])
1,930& = 9,000 17,370
OZ2M L AUE=HSEULI
1,930& * 300A 579
OXYAN ME=sdH ADEE B(ME=x3F)
70,000& = 11CH = 123 9,240
O[AIE &8l *Xib8l] 15,600
ONMEXSEHSEHAXAAE R E HI
330,000& » 12& « 2CH 7,920
O JIaH E = H A AE R X E 24
337,500 * 12& 4,050
OXNBEHEXZZANAE S EH|
302,500& = 123 3,630
202 oddl 23,000 0 23,000
01 SLHOIYI 23,000 0 23,000
OXNEAHE FRF=E 0l
20,000& = 521 = 230 23,000
303 Z& 3 15,000 15,000 0
01 243 15,000 15,000 0
02014 X LAN E2=2=8H A& 15,000
O X 5,000,000& » 1S ™ 5,000
? = 3,000,000& » 25® 6,000
oF do 2,000,000& » 2™ 4,000
401 A& HIZ 201 I 61,000 61,000 0
01 A& HI 61,000 61,000 0
02014 XILAH = 25H & ASH| 61,000
O x&= 15,000,000& » 15 ¢ 15,000
o= = 13,000,000% * 25H 26,000
oF do 10,000,000&  25H 20,000
NEA M- Z28 29 34,475 21,400 13,075
201 Let24d] 11,975 900 11,075




2N
X ZH -
L= B

el

0B o0 2
0% 02 0
[e]]

ol

]

|2 S WHE 29
D =s N2y

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 975 900 75
Olget=&Hl] 975
OMS=g DXAM 7L 65,0003 » 15 A 975
02 22224l 11,000 0 11,000
ONA=LHEXNE BSEHIINANAE 2L
11,000,000& * 14l 11,000
403 MtXISHH S =0l & 22,500 20,500 2,000
02 3|23 0l CHSHCH 2 At & HI 22,500 20,500 2,000
ONA+=LEFZBANAE SIE 4
22,500,000& * 14l 22,500
XA e a3t 130,492 124,440 6,052
101 14 Hl 29,242 27,590 1,652
04 JIZHZ22XREES 29,242 27,590 1,652
OMEFHINAZA ol
42,2503 * 142! = 45 26,618
OMNEFEIIAZAARLY 400 EE =
26,617,500 * 9.85471% 2,624
201 £B-2%H| 95,240 93,540 1,700
01 At 22/l 65,450 65,480 A30
O[gere] 57,180
OMEFEIIA XA 57,180
0 FeIA ABLAR
6,000& = 14,4004 * 50% 43,200
o NEFe AT} U O|MBAZLLR
17,000& = 300& * 50% 2,550
o FEIIAXZA SESUHNE WH
0,000& = 110# = 23l 1,540
O FEINAZAN ERYAT HAH
10,000& * 1200 * 23] 240
0 FUINADNME 2EE BIA M
3,000& = 1,50008 * 50% 2,250
o TEHEHIZALE QI 603 = 20,0000H 1,200
o FEIA OIS EHAN 60& = 9,0000H 540
0 FelA ABSNE AN
1002 = 10,8000H 1,080
o MHEFEIIA S2H THMELA
108,000& = 10K 1,080
o HEFEIIA E2H THMEETX
65,0003 » 408 2,600
o HEFEIIAH3Sl 70,0008 * 12.853l 900
Olget=&tl] 8,270
O M &HAl 2tel 8,270
o MA&tMl HREcHE W
70,000& = 1200 = 23l 1,680




SM: HPD
M ZHot) FHE MHAE 29
Sl B SYS MIZ2Y (29l & 2)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o MA&tAl £ D0CRLXIAM (S EH 7L
65,0003 * 33=tA x 2& 4,290
o M&tAl 213 HWAA HASK
45,0003 = 10=tA « 18 450
o MatAl H=22E =8 M
500& = 1,08001 = 23l 1,080
o MAHAl DtE &9l 3
70,000& = 13 = 11¢l 770
02 23224l 29,790 28,060 1,730
o222 ¥ HMAl 29,790
OMAA DXAN E& RE= 24,990
os Jl 1,930& 3,000 5,790
og ¢t 320& * 60,000A 19,200
OFUINAAWENL 25 2WE
320& » 15,0004 » 23| = 50% 4,800
202 Oddl 6,010 3,310 2,700
01 = LH 4 Hi 6,010 3,310 2,700
Oz & JIEESAH AMIEZEHTZAH(22])
70,0003 = 191 » 8 560
ONAIIEEN SR
70,0003 = 191 » 5« 350
OMNE =& X = AL 20,000 = 321 = 40 2,400
OMAEEAl DEAIREZ ZAF =& O I
20,000 = 32! » 45 2,700
s SIAHEM &2 118,900 119,800 A 900
Sgst sl el 118,900 119,800 A 900
201 Let24E] 107,200 98,900 8,300
01 At 22l 91,600 88,100 3,500
Oflger=&tl] 82,000
OXNYLE Ol8x=E 20,0003 = 420A 8,400
OSIHHESH 2 SUEH BAL4R
500,000& = 18A 9,000
OAHZAHSRH MEEESEER
50,000& = 15091 = 23| 15,000
OHEEAAAM UM 5,000& * 2408 * 33 3,600
020143 M MESS LM I
170,000& * 60% 10,200
020143 NPMES LM 2FSNHF Y
100,000& » 58% 5,800
020148 MHEEON BUSHA BEF+Z
15,000,000& = 13l 15,000
020149 HEE DM 214 120,000& » 75% 9,000
05NYREH 5 SM2 7
80,000& * 5&8%F = 153 6,000
oleg=+¢] 9,600




<

n0

Kio

Hl w

4,800

9,800
9,800

A 835,159

73,000

73,000

H3r
Wikd
RIS

10,800

1,900
1,900

2,089,875

74,525

74,525

29,525
28,025

1,500

Off &t 24

6,000

3,600
15,600
15,600

10,800
4,800
11,700
11,700
1,000
800

300

600

9,000

1,254,716

35,000
1,219,716

f

147,525

147,525

29,525
28,025
28,025

500

15,000

6,400

450

675

5,000

1,500
1,500

U Sl

2N

=

% 391+ 202

=

=

100,000

-

]
<+
xr
K0

o}
[gd]

4« 901 43

=

o

100,000

B0
0H
M0
Ho

!
!

=

c2H

=)

2l x 12

e

2l % 12

o
|
2
|

o

FXHE AL
900,000
400,000

9]

Q
=

O[A&ZH SXlHl]
01 20l

202 04l

oll

ol

1

2

150,000

xr
K0

H

OX 3 A A

oll

ol

2

2

100,000

Kt

=

ol

[und

2 x 6Ol * 75

e

20,000

Bl
<J

oJ
Rr
]
of

o

Bl
<J

Ok
Mo

Bl
<J

U
M0

30
0
oJ
ol

01 At 22l bl

.

Mo

2+ 10,0004

=

502

Mo

[unl

&« 100A

,000&

Mo

4+ 10,0002

o
=

45

Mo

A0

2| % D78¢

=

=

25,000

i
i

1,000,000& * 53|

30
0H
0]
Ho

O[A&ZH Xl

AT ER0 KA

=l

)
<

U
Mo

8,000

1,500
8,000

375,000& * 43

202 Oddl




SM: HPD
g a8HQ MHatzel
el 35 Tatatel (9 ® =)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
01 SLHOYI 8,000 0 8,000
Oz Met2e dE=A Kl
20,000& = 501 = 80 8,000
401 Al HIZ 2018 110,000 45,000 65,000
01 A& HI 110,000 45,000 65,000
OE23d FHa EHSA
110,000,000& = 1Al 110,000
HHES FA2E 1,107,191 2,015,350 A 908,159
= 35,000
= 1,072,191
FAAEZS 2l 1,099, 191 2,007,350 A 908,159
= 35,000
= 1,064,191
101 1Al 22,347 21,309 1,038
04 JIZtHZ22 s+ 22,347 21,309 1,038
OFA HARE 0%
42,250 * 1Q1 * 249 10,521
O=5=¢ 42,250 = 191 = 523 2,197
Ogitsrs+¢ 42,2503 * 121 » 15 634
O RE S 15,808,080 * 9.85471% 1,558
OFAIF=E M= 2
42,250 = 201 = 67 5,662
OFMNEE == HFURY
2,250 * 7Q1 » 2& * 33 1,775
201 2ur2 Y| 649,348 606,052 43,296
01 ArR2t2lHl 90,338 84,330 6,008
Olget=&Hl] 90,338
OFEARA AIY=E 100,000& = 42! = 23] 800
ogaE 7 F8 % MEH 1,500
o &7 ¥ A MNEHI 200,000& * 32 600
o &7 ¥ A FYH| 180,000& * 53l 900
O AEAE 1,200
o MIEHI 400,000& = 32 1,200
O&F=D| elHl(254,g254)
50,000 = 4.30H = 12& 2,580
OFA HHEEES FY
225,000& * 6& * 83l 10,800
OHALLOIMAY xS (=AFE 1
3, Z8HLUEZ 13)) 550,000& * 12& 6,600
OFAN EAES 7Y 314,285& « 73l 2,200
O &AL gALSH| 300,000& * 62 1,800
OBM HAE 23 M) =25 (B
Z8) 4,350
o 20¢ 3002 * 20004 = 753 450

_7_




SA e
MM SO T2
S WEE FAM2H (&9 &)
SHE|
S E B (3H) - MBAY - BES O Ak o8 %@ﬁ HD=2
o 504 7509 * 2000 A * 126.663] 1,900
o 1004 1,4702 * 2500 A * 54.423] 2,000
OFA SZMH EFHMEH
200,0002 * 20% 4,000
OY¥AZDRZELE AE DA
1,000,0008 * 1A * 43 4,000
O ZAFZS22/Hl  200,0008 * 2 A * 12€ 4,800
OBAROLABAIAE XN HAZ(2H H2
BEES) 1,500,000& * 12% 18,000
OFIICGHAEY 8 222(2H)
1,034,0002 * 128 12,408
OXI| HMIIQHMAA I8 2=42(34)
1,000,000 * 14l 1,000
OFIICGHAEY 8 222(SH)
4,000,0002 * 23] * 110% 8,800
OEXY LHEI L2
300,000& * 3CH 900
O2E2E HJIZ M2t 300,0002 * 63 1,800
ONSX HIBA 222
28,0002 * 100CH » 13 2,800
02 2229 559,010 521,722 37,288
Ol2Z2Z2 2 HMAMI 457,690
O Autot@M el &3l 240,000 * 13l 240
OSANE RELI(AES, 2E2XE)
9,000,000&4 * 13l 9,000
OHINER(2H 82 BE=S)
15,000,000 » 12¢ 180,000
OMLTTARS(E2H E2,558)
900,0008 * 129 10,800
OXNSXHH(EE2XS 1000H
110,00024 * 100CH 11,000
OXNSXHEEZ(SEXS 1000H)
650,0002 * 100CH 65,000
OZZHA Mll=2EE
181,650,0008 * 13l 181,650
O[A &= X ] 41,320
OH=EE2 R Z2H (2 842 E=5)
5,0002 * 5,000 25,000
oAl U 93lE 22| KA 22
360,0002 * 129 4,320
OMOAINATY L THEA
100,000 * 42CH 4,200
O=22 L H2 2943 NotH2Z HA(SS
S &3 1,800,000 * 23 3,600
OXMEID EHY ATZEQON R
350,00034 * 129 4,200
OlXtg - detHl] 60,000




2AH: M

o
=]
N a8H a2
X

& HEE FAM2E (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OXE=XE L =FUH
250,000& = 20CH » 12 60,000
206 M= Hl 13,200 14,550 A 1,350
01 =8l 13,200 14,550 A 1,350
OFALY 3t Z237¢ 1,000,000& * 23] 2,000
O=232el dXH2 +2  4,000,000& * 14 4,000
OBMAL ¥ S5 224 FQ 7,200
Oga /YA ¢ 10,000& = 600K 6,000
OHEMN=EEZ Y Bt7Y 100,000& * 123] 1,200
401 AIEHI L 2CHYI 116,400 954,239 A 837,839
= 35,000
e 81,400
01 A& HI 116,400 951,000 A 834,600
O&EAN SHAE &X 22,000,000 * 14 22,000
Odl2s LEDEY WA 70,000,000& * 14! 70,000
= 35,000
i 35,000
Odt2s LEDEE WH 2AHEH
4,400,000& » 14! 4,400
OFAES == -4l 20,000,000 * 14 20,000
405 XtAHE SHI 297,896 411,200 A 113,304
01 XL = ZH SH| 297,896 411,200 A 113,304
OFAXE FU(MEH)  80,000,0008 = 1CH 80,000
OFAXE P (A4ES) 110,000,000 * 1CH 110,000
O& AFRAFI 72¢ 30,000,000& * 14l 30,000
OZAt 2EHIE 2|
720,000& * 3F * 43| 8,640
OSAI L (BSEAMI =X 2)
8,000,000& = 1CH 8,000
OSAIl P (=2at2=24) 8,000,0008 * 104 8,000
OSAI R (ZHH) 8,000,000& = 1CH 8,000
OSAMI L (FERFHH) - 45 NH2)
6,000,000& = 1CH 6,000
OSAI R (BAHL) 2,500,000& * 1CH 2,500
OSAII P (2EH) 8,000,000& = 1CH 8,000
OSAD 2L (XXLAD)  5,000,0008 * 1CH 5,000
ORFMHEZTSEX 2L (XX
20,000,000& * 1CH 20,000
Odur) (ALY UY) - S 2243 A
FAE 2,256,000& * 1O 2,256
QUL 2 (8HatH) 1,500,000& = 1CH 1,500
2R MY 2e| 8,000 8,000 0
201 LBr2 Y| 6,560 6,560 0




SH WR D
o 58N Harzel
ool AR HASY

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 6,560 6,560 0
2dY Hsdts ¢Hd=s 2
160,000& * 362! 5,760
O=2dd Hsla 4 HAYXY
800,000& * 13 800
202 o4dl 1,440 1,440 0
01 = LH o4 1l 1,440 1,440 0
O2&Y HM=sUal &4 0Hl 40,000& * 362! 1,440
SHE AL 601,555 530,649 70,906
SH Marze(SHAR) 601,555 530,649 70,906
S¢ MHatzel 29 601,555 530,649 70,906
201 L2l 240,115 225,899 14,216
01 At 22l 7,744 7,744 0
Oflget=&Hl] 7,744
oS BB ByA Y
500,000& * 115H 5,500
OMNES NREZAL FIIQEEY £42
170,000& = 12& * 110% 2,244
02 =24l 232,371 218,155 14,216
Ol3322 ¥ HMAl 162,960
OSH EAM HI 23
900,000& » 118%™ = 12& 118,800
OSY EMN &2 23
80,000& = 118%™ ~ 12& 10,560
O SBARA R0FH 234l
140,000& » 113%™ » 12& 18,480
Od=E MREEEA RoFH AMAE 224
160,000& * 128 1,920
OHNSSARETZA2E
1,100,000& * 12& 13,200
O[AM&E&Hl S Xl 28,911
O # A = XIHI 28,911
o B 4,500 * 967.5m 4,354
oldss 4,500& * 680.4m 3,062
o d&lH 4,500 = 396m 1,782
o=&8dH 4,500 = 496’ 2,232
o d=H 4,500% * 615.5m 2,770
o Al&H 4,500 * 543.5m 2,446
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Oofger22l] 7,800
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202 o4dl 4,080 13,986 A 9,906
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Hees(H2) 126,500 129,800 A 3,300

RSN 126,500 129,800 A 3,300

KL & 126,500 129,800 A 3,300

311 X+ S0l At &f & 16,500 19,800 A 3,300

02 S3t=a 82X 30| AH&f &t 16,500 19,800 A 3,300
OJIEt = WXL S & &0l A 16,500
O=&EA &EHIJI=3 Ol 16,500,000 * 14! 16,500

601 XL S =4 110,000 110,000 0

03 SLZIxLSASaE 110,000 110,000 0
OJIEIS WXL S &E 110,000

OZ&EAMN EHJI=z &3

110,000,000 * 14 110,000




